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Graph each and answer the function 5 %
questions for #34.
32, yvvu‘_—‘ l\;; -4 Moy= I,x*“ 1 | -5
3.y=—|x+4| +3 /oy =2|x + 1] 2
37. o= w%l‘x o 2| -u3 - S va »
PN 4
T;‘ //./
\\\ 1// '
N / 4
- » -
\ ’2 7
. N /
nNy
A4 *
v [
)
v
)
- /M < » 4
p.Aan \
A NS "59(
)
v - >
Function Questions:
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Write an equation for each function.
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For #5 — 7, write an equation for the given transformations of y = |x| .

S. Up 4, Right 8 6. Left 2, Narrowed by a factor of 5, Up 9

V=[x-2) +y4 ,\{=5[K+1\ +9

7. Reflected across the x-axis, Down 2, Right 3, Widened by a factor of %
-3
\i = 1,‘— \ X - 3\ - D.

8. The coca-cola company packages their mini-cans in 80z increments. They allow for a margin of error
0f 0.045 ounces. Write an absolute value equation and solve to find the lowest and highest number of
ounces that would be allowed in their mini-caps. 1,455 " L OAS
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Graph and shade the following inequalities. '
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9. y>x-1]+5 10. y <-3[x|-1
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11.

Anthropologists use a linear model that relates femur length to height. The model
allows an anthropologist to determine the height of an individual when only a partial

skeleton (including the femur) is found. In this problem we find the model by

analyzing the data on femur length and height for the ten
males given in the table.

a. Which type of regression equation models the data the

best?
" Qe

b. What is the regression equation?

D= LAy <+ 0.(]

c. Ifananthropologist finds a femur of length 58 cm, how
tall was the person?

1420 ¢

d. Iifapersonis151 cm tall, what does the model predict
for their femur length?

3(0.(-"()-$ Cwn

e. Using the r-value, describe the relatlonshlp between
femur length and height.

(e .G‘OS-J S’\'th 2’» fFos \‘\\v:x

12. The table shows the temperature change during a 10 hour
snow storm. Using this information, experts can predict the
temperature in the upcoming hours.

a. Which type of regression equal models the data the best?

Q \"’fé*f-:.\\c,

b. What is the regression equation?
qe N4 - gllx«38.07F

c. Inthe 12% hour, predict the temperature.

HY. 3"

Femur | Height
Length | (cm)
(cm)
50.1 178.5
48.3 173.6
45.2 164.8
44.7 163.7
445 168.3
42.7 165.0
395 | 1554
38.0 155.0
Time since start of Temperature
Snow Storm (hours) | (degrees Fahrenheit)
1 26
2 24
3 18
4 16
5 10
6 12
7 14
8 20
9 23
10 27




13. Solve each absolute value. Check your answers. Circle all final answers. Any extraneous solutions,

cross off.

a. |2x+1|= -9

No  sslvHens

b, fx—2]+3>13
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14. Write the equation of the inequality graph below.

1€ S\ xul =3
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